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Module-5
What is the necessity of Programnring event driven input? Describe winclorv events and
kc.vboard cvent. (10 )Iarks)
Writc a short notcs on :

i) OpcnCl- ClLrrvc ancl Silrlace {Lnctions ii) Bezier Clurve and Surlaces. (10 Nlarhs)

OR
What are Display lists'l Ilxplain the steps to develop Inter?lctive nrodels aud Anin.raling
inlcractivc llrograrns (10 \Iarl<s)
Writc a short notcs tln :

i) ('urr,'c and QLradric slrrlaces ii) I-ogic Opcrations (Graphics). (10 N{arl<s)

I0 a

2 ol'' 2



@

ts

t

USN

Sixth Semester B.
Web Tech

Time: 3 hrs.

Notc: Answer any FIVE fttll
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